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Question

In oed! 2w is the following sentence:
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How can the word & y\>x> be used as khabar?
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Fadilat al-Shaykh Dr. V. Abdur Rahim (@ 4aé~) replies:
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Agreement between the mubtada’and the khabar is only in derived

words like
Jeuh o,

J}%i«j‘ ;'-w\, etc., e.g.:
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Such derivatives bear a hidden pronoun, and so the need for agreement.
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So this rule does not apply to underived nouns like jrv

Here is an example where the khabar is not an ism al-fa5l, ism al-
mafil, al-sifat al-mushabbahah, etc.:

1&/ -0 - A& O/o
S g h;-x-“ The home is a school.
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Y CJ}?’S‘ Homes are schools.

Hope this has helped you.
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